

Jorge Miguel Alvarado Reyes

2. - $f(t) = c$

$$\mathcal{L}\{c\} = \int_0^{\infty} c e^{-st} dt \quad \begin{array}{l} u = -st \\ du = -s \end{array} \quad \begin{array}{l} dt = \frac{1}{du} = -\frac{1}{s} \\ dv \end{array}$$

$$c \cdot \int e^u \cdot -\frac{1}{s} du = -\frac{c}{s} \int_0^{\infty} e^u du = -\frac{c}{s} [e^u]_0^{\infty} = -\frac{c}{s} e^{-st}$$

5. - $f(t) = t^3$

$$\mathcal{L}\{t^3\} = \int_0^{\infty} t^3 e^{-st} dt \quad \begin{array}{l} u = t^3 \\ du = 3t^2 \end{array} \quad \begin{array}{l} = \lim_{x \rightarrow \infty} v = -\frac{e^{-st}}{s} \\ dv = e^{-st} \end{array}$$

$$= \left[t^3 \cdot -\frac{e^{-st}}{s} \right]_0^{\infty} - \int_0^{\infty} -\frac{e^{-st}}{s} \cdot 3t^2 dt$$

$$= \frac{3}{s} \int_0^{\infty} e^{-st} t^2 dt = \frac{3}{s} \cdot \frac{2}{s^3} = \frac{6}{s^4}$$

6. - $f(t) = t^n$

$$\mathcal{L}\{t^n\} = \int_0^{\infty} e^{-st} t^n dt \quad \begin{array}{l} u = t^n \\ du = n t^{n-1} \end{array} \quad \begin{array}{l} v = -\frac{e^{-st}}{s} \\ dv = e^{-st} \end{array}$$

$$= \left[\frac{t^n e^{-st}}{s} \right]_0^{\infty} - \int_0^{\infty} -\frac{e^{-st}}{s} \cdot n t^{n-1} dt$$

$$= -\frac{n}{s} \int_0^{\infty} e^{-st} t^{n-1} dt = \frac{n}{s} \mathcal{L}\{t^{n-1}\} = \frac{n!}{s^{n+1}}$$

$$8.- f(t) = \cos(t)$$

$$\mathcal{L}\{\cos(t)\} = \int_0^{\infty} \cos(t) e^{-st} dt$$

$$u = \cos(t) \quad v = -\frac{e^{-st}}{s}$$

$$du = -\sin(t) \quad dv = e^{-st}$$

$$= -\frac{e^{-st} \cos(t)}{s} - \int \frac{\sin(t) e^{-st}}{s} dt$$

$$u = -\sin(t) \quad v = \frac{e^{-st}}{s}$$

$$\begin{aligned} & du = -\cos(t) \quad dv = e^{-st} \\ & = -\frac{e^{-st} \cos(t)}{s} - \left(-\frac{e^{-st} \sin(t)}{s} - \int -\frac{e^{-st} \cos(t)}{s^2} dt \right) \\ & = \frac{e^{-st} \sin(t) - s e^{-st} \cos(t)}{s^2 + 1} \Big|_0^{\infty} = \frac{1}{s^2 + 1} \end{aligned}$$

$$9.- f(t) = \sin(kt)$$

$$\int_0^{\infty} \sin(kt) e^{-st} dt = \left[-\frac{1}{s} e^{-st} \sin(kt) \right]_0^{\infty} + \frac{k}{s} \int_0^{\infty} \cos(kt) e^{-st} dt$$

$$= \lim_{t \rightarrow \infty} \left[-\frac{1}{s} e^{-st} \sin(kt) \right]_0^{\infty} + \lim_{t \rightarrow \infty} \left[\frac{k}{s} \left[-\frac{1}{s} e^{-st} \cos(kt) \right] \right]_0^{\infty}$$

$$+ \frac{k}{s^2} - \frac{k^2}{s^2} \int_0^{\infty} \sin(kt) e^{-st} dt$$

$$\int_0^{\infty} \sin(kt) e^{-st} dt = \frac{k}{s^2} - \frac{k^2}{s^2} \int_0^{\infty} \sin(kt) e^{-st} dt$$

$$= \frac{k}{s^2} - \frac{k^2}{s^2} \mathcal{L}\{\sin kt\}$$

$$= \frac{k}{s^2 + k^2}$$

Jorge Miguel Alvarado Reyes

11. e^{4t}

$$\mathcal{L}\{e^{4t}\} = \int_0^{\infty} e^{4t} e^{-st} dt = \int_0^{\infty} e^{t(4-s)} dt \quad \begin{aligned} u &= (4-s)t \\ du &= (4-s) dt \\ dt &= 1/(4-s) dt \end{aligned}$$

$$= \int e^u du = \frac{1}{s-4} \left[-e^{-u} \right]_0^{\infty} = \frac{1}{s-4} (-e^{-\infty} + e^0) = \frac{1}{s-4}$$

12. e^{-2t}

$$\mathcal{L}\{e^{-2t}\} = \int_0^{\infty} e^{-2t} e^{-st} dt = \int_0^{\infty} e^{t(-2-s)} dt \quad \begin{aligned} u &= (-2-s)t \\ du &= (-2-s) dt \\ dt &= 1/(-2-s) dt \end{aligned}$$

$$\int e^u du = \frac{1}{s+2} \left[-e^{-u} \right]_0^{\infty} = \frac{1}{s+2}$$

14 $\sinh(3t)$

$$\mathcal{L}\{\sinh(3t)\} =$$

$$\sinh(3t) = \frac{e^{3t} - e^{-3t}}{2} \quad \int_0^{\infty} e^{-st} \sinh(3t) dt = \frac{1}{2} \int_0^{\infty} e^{-st} (e^{3t} - e^{-3t}) dt$$

$$= \frac{1}{2} \left[\int_0^{\infty} e^{-st} e^{3t} dt - \int_0^{\infty} e^{-st} e^{-3t} dt \right] = \frac{1}{2} [\mathcal{L}\{e^{3t}\} - \mathcal{L}\{e^{-3t}\}]$$

$$= \frac{1}{2} \left(\frac{1}{s-3} - \frac{1}{s+3} \right) = \frac{3}{s^2 - 3^2}$$

$$15.- \cosh(6t) =$$

$$\cosh(6t) = \frac{1}{2} \cdot e^{6t} + e^{-6t}$$

$$\mathcal{L}\{\cosh(6t)\} = \frac{1}{2} \int_0^{\infty} e^{-st} (e^{6t} + e^{-6t}) dt$$

$$= \frac{1}{2} \left[\int_0^{\infty} e^{-st} e^{6t} dt + \int_0^{\infty} e^{-st} e^{-6t} dt \right]$$

$$= \frac{1}{2} \left[\mathcal{L}\{e^{6t}\} + \mathcal{L}\{e^{-6t}\} \right]$$

$$\frac{1}{2} \left[\frac{1}{s-6} + \frac{1}{s+6} \right] = \frac{s}{s^2 - 6^2}$$

$$17.- \cosh(\alpha t)$$

$$\cosh(\alpha t) = \frac{1}{2} \cdot (e^{\alpha t} + e^{-\alpha t})$$

$$\int_0^{\infty} \cosh(\alpha t) e^{-st} dt = \frac{1}{2} \int_0^{\infty} e^{-st} (e^{\alpha t} + e^{-\alpha t}) dt$$

$$= \frac{1}{2} \left[\int_0^{\infty} e^{-st} e^{\alpha t} dt + \int_0^{\infty} e^{-st} (e^{-\alpha t}) dt \right]$$

$$\frac{1}{2} \left[\mathcal{L}\{e^{\alpha t}\} + \mathcal{L}\{e^{-\alpha t}\} \right]$$

$$\frac{1}{2} \left[\frac{1}{s-\alpha} + \frac{1}{s+\alpha} \right] = \frac{s}{s^2 + \alpha^2}$$